arcsec

First 2 seconds (h' 0. 063 H_— 0, 0013
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 029 m&&n -0 063)
Declination Error (o, =0.004 mean .=-0.001)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167260 (exptime=2.00) t[sec]



arcsec

First 2 seconds (h' 0. oos H_— 0, 0303
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 007 m&&n -0 006)
Declination Error (o, =0.003 mean .=-0.030)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167261 (exptime=2.00) t[sec]



arcsec

First 2 seconds (h' 00273_ 00219
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 077 m&an -0 005)
Declination Error (o, =0.006 mean o.=0-020)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167262 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 0. 0713_ 0.03 8
First 20 seconds (o, =0.000 % -0 000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 057 m&&n =-O 002)
Declination Error (o, =0.013 mean o.=0-022)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167264 (exptime=15.00) t [sec]



arcsec

First 2 seconds (F 0. 043 H_— O OO i
First 20 seconds (o, =0.11 11)

Second 20 seconds ?0 —0 00 0 —0 000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 169 m&&n a-O 014)
Declination Error (o, =0.011 mean, =0.010)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167266 (exptime=20.00) t [sec]



arcsec

First 2 seconds (F OOSBH_ 00058
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 109 m&&n -O 011)
Declination Error (0, =0.012 mean o.=0-013)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167268 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 034 E_— 0.039
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 120 m&&n -0 009)
Declination Error (0, =0.012 mean =-0.018)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167270 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' 0. 2913_— 0072&
First 20 seconds (o, =0.000 % -0 000)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 260 m&an =-O 013)
Declination Error (o, =0.006 mean =-0.068)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167272 (exptime=15.00) t [sec]



arcsec

First 2 seconds (F 00143_ 002(@
First 20 seconds (o, =0.000 o, =0.000)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 267 m&an -0 050)
Declination Error (o, =0.007 mean o.=0-027)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

60 80 100 120
expid=167274 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' -0, 094 E_ =0, 0113
First 20 seconds (o, =0.1! 09)

Second 20 seconds ? —0 00 0 .=0.000)
Third 20 seconds (o, -0 000 g, —O 000)

Hour Angle Error (o —0 157 mean =-0.008)
Declination Error (o, —0 012 mean o.=0-003)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

S I . o o o A S
/i i I 1 1 | i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=167276 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h' 0.202 H_— 0, 014g
First 20 seconds (o, =0.106 05)

Second 20 seconds ?0 =0.| 00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 155 mean =-0.035)
Declination Error (g, =0.007 mean =-0.010)
Guider X (o,,=0. 014)

Guider Y (o, 0. 072)

7 !: ............................................................. ...............................................
(DS G O S A T —
Lo

80 100 120
expid=167280 (exptime=30.00) t [sec]



arcsec

First 2 seconds (h'—-o 045 E_ =0, 026%
First 20 seconds (o, =0.084 o 08)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 084 m&&n -0 002)
Declination Error (o, =0.008 mean o.=0-022)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167282 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0.076 H_— 0, 14&2
First 20 seconds (o, =0.116 IR —0 053)

Second 20 seconds ?0 =0.111 0 ,=0.020)
Third 20 seconds (o, -5 1300, —O 028)
Hour Angle Error (o —0 120 m&&n —0 006)
Declination Error (o, —0 038 mean o.=0-006)
Guider X (o,,=0. 040)

Guider Y (o, 0. 043)

80 00
expid=167283 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.038 E_— 0.217,
First 20 seconds (o, =0.099 Ty, —0.075

Second 20 seconds ? =0.09. 0 .=0.017)
Third 20 seconds (o, -5 096 g, —O 018)

.............................................................................. B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan
............. D N T N A N N N e
1 1 1 | 1 1 1 | 1 1 1

Hour Angle Error (o —0 100 mean =-0.002)
Declination Error (o, —0 053 mean =-0.006)
Guider X (o,,=0. 027)

Guider Y (o, 0. 040)

80 100 120
expid=167284 (exptime=90.00) t [sec]



arcsec

5 Uha: " Udec: B
s (Fa=-0.000 mzo.lseg
seconds (0h =0.122 ¢ ec=0.05 )
nd 20 seconds ?Uh =0.110¢, =0.036)
0 seconds (cha:5.102 G,,,=0-093)
ngle Error (o, a=0.109 mean a=0.012)
ion Error (o, =0.112 mean, =0.010)

..........................................................................................................................

i 1 1 1 i 1 1 1
80 100 120
expid=167285 (exptime=90.00) t [sec]




arcsec

First 2 seconds (h' -0.105 E_— 0.207.
First 20 seconds (o, =0.118 ¢ 072

Second 20 seconds ?0 =0.127 0 &, =0-027)

Third 20 seconds (o, -5 1150, —O 020)
Hour Angle Error (o —0 118 m&8n —0 009)
Declination Error (o, —0 071 mean o.=0-007)
Guider X (o,,=0. 041)

Guider Y (o, 0. 035)

80 100 120
expid=167286 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.014 H_— 0, 140%
First 20 seconds " (o,_=0.102 46)

Second 20 seconds ?0 =0. 10 0 .=0.012)
Third 20 seconds (o, -5 096 g, —O 023)
Hour Angle Error (o —0 103 mean =-0.002)
Declination Error (o, —0 038 mean =-0.004)
Guider X (o,,=0. 034)

Guider Y (o, 0. 036)

80 00
expid=167287 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00503_ 0261)
First 20 seconds (o, =0. 170, = 0.092)

Second 20 seconds ?0 =0.11; 0 ,=0.014)
Third 20 seconds (o, -5 1150, —O 018)
Hour Angle Error (o —0 117 m&8n —0 002)
Declination Error (o, —0 083 mean =-0.001)
Guider X (o,,=0. 026)

Guider Y (o, 0. 036)

80 00
expid=167288 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,037 E_ =0, 002&
First 20 seconds (o, =0.106 o 26)

Second 20 seconds ?0 =0.11 o .=0.044)
Third 20 seconds (o, -5 1150, —O 082)
Hour Angle Error (o —0 113 m&%n —0 007)
Declination Error (o, —0 084 mean o.=0-020)
Guider X (o,,=0. 054)

Guider Y (o, 0. 042)

80 100 120
expid=167289 (exptime=90.00) t [sec]
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arcsec

First 2 seconds (h'—-o 079 E_ =0, 0033
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 139 m&&n -0 006)
Declination Error (o, =0.009 mean o.=0-015)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

o
T

20 40 60 80 100 120
expid=167292 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' -0,020 E_ =0, 0263
First 20 seconds (o, =0.124 ¢ 09)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 124 m&&n —0 020)
Declination Error (o, =0.009 mean o.=0-015)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

........................................................................... B aeeeeaeeeaeaecaeaasasafeeanaanaananaaaaaaaaaan

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=167294 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' -0,056 E_ 0, 150%
First 20 seconds (o, =0.142 ¢ 35)

Second 20 seconds ?0 ,=0.13 0 .=0.051)
Third 20 seconds (o, -0 136 0, —O 031)
Hour Angle Error (o —0 144 m&&n —0 004)
Declination Error (o, —0 059 mean o.=0-027)
Guider X (o,,=0. 026)

Guider Y (o, 0. 032)

80 100 120
expid=167295 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.036 E_— 0.114
First 20 seconds " (o,_=0.152 3% —0.041

Second 20 seconds ?0 ,=0.14 0 .=0.055)
Third 20 seconds (o, -0 1400, —O 061)
Hour Angle Error (o —0 149 m&&n —0 013)
Declination Error (o, —0 081 mean o.=0-000)
Guider X (o,,=0. 039)

Guider Y (o, 0. 037)

80 00 120
expid=167296 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00253_ 0055)
First 20 seconds (c =0. 20 —0 017)

Second 20 seconds ?0 —0 15. 0 o, =0-034)

Third 20 seconds (o, -0 178 0, —O 041)
Hour Angle Error (o —0 169 mean =-0.001)
Declination Error (o, —0 070 mean =-0.024)
Guider X (o,,=0. 032)

Guider Y (o, 0. 041)

...................................................................................................................

...............................................................................................................................

80 100
expid=167297 (exptime=90.00)
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arcsec

First 2 seconds (h' -0,033 E_ =0, 017g
First 20 seconds (o, =0.148 ¢ 16)

Second 20 seconds ? ,=0.12 0 ,=0-009)

Third 20 seconds (o, -0 131a, —0 044)
Hour Angle Error (o —0 134 méan -0 002)
Declination Error (o, —0 062 mean =-0.011)
Guider X (o,,=0. 030)

Guider Y (o, 0. 033)

: v
iy 1101 |
| 1 1 1 | 1 1 1
100 120

80
expid=167299 (exptime=90.00) t [sec]



120

90.00) t[sec]
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arcsec

First 2 seconds (h' -0, 019 E_ =0, 0112
First 20 seconds (o, =0.2!

Second 20 seconds ?0 —0 27 0 .=0.012)
Third 20 seconds (o, -5 2340, —O 020)
Hour Angle Error (o —0 252 m&&n —0 004)
Declination Error (o, —0 052 mean o.=0-014)
Guider X (o,,=0. 028)

Guider Y (o, 0. 062)

80 00 120
expid=167301 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F 0. 094 H_— 0, 143
First 20 seconds (o, =0.1. )

Second 20 seconds ?0 —0 13 0 . =0-013)

Third 20 seconds (o, -0 1420, —O 036)
Hour Angle Error (o —0 144 m&&n —0 015)
Declination Error (o, —0 052 mean o.=0-013)
Guider X (o,,=0. 030)

Guider Y (o, 0. 036)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

..........................................

............. D N T N A N N N e
| 1 1 1 | 1 1 1

80 100 120
expid=167302 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F 0. 0323_ 0. 1493
First 20 seconds (o, =0.135 50 = 0)

Second 20 seconds ?0 ,=0.13 0 . =0-033)

Third 20 seconds (o, -0 1450, —O 036)
Hour Angle Error (o —0 142 m&&n -0 007)
Declination Error (0, —0 076 mean o.=0-003)
Guider X (o,,=0. 037)

Guider Y (o, 0. 038)

...........................................................................................................................

.......................................................................................................................................

20 ' 40 60 80 100 120
expid=167303 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.073 H_— 0, 161§
First 20 seconds (o, =0.151 ¢ —0 058)

Second 20 seconds ?0 ,=0.14 0 . =0-027)

Third 20 seconds (o, -0 1380, —0 011)
Hour Angle Error (o —0 143 m&&n —0 010)
Declination Error (o, —0 038 mean =-0.029)
Guider X (o,,=0. 021)

Guider Y (o, 0. 032)

...........................................................................................................................

.........................................................

.......................................................................................................................................

80 100 120
expid=167304 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F 0.004 H_— 0,104 3
First 20 seconds (o, =0. 14ia —0 042)

Second 20 seconds ?0 =0 149 0 .=0.030)
Third 20 seconds (o, -0 1420, —O 028)
Hour Angle Error (o —0 144 m&&n —0 007)
Declination Error (o, —0 106 mean =-0.008)
Guider X (o,,=0. 036)

Guider Y (o, 0. 038)

............................................................................................................................
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20 ' 40 60 80 100 120
expid=167305 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F 0. OOlH_ 0.02 E
First 20 seconds (o, =0.129 O —00 4)

Second 20 seconds ?0 ,=0.13 0 o, =0-034)

Third 20 seconds (o, -0 1290, —O 050)
Hour Angle Error (o —0 135 mean =-0.006)
Declination Error (0, —0 081 mean =-0.011)
Guider X (o,,=0. 037)

Guider Y (o, 0. 033)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

...............................................

............. D N T N A N N N e
1 | 1 1 1

80 100 120
expid=167306 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.019 E_— 0.099
First 20 seconds (o, =0.146 =% —0.022

Second 20 seconds ?0 ,=0.16 0 ,=0-026)

Third 20 seconds (o, -0 159 0, —O 022)
Hour Angle Error (o —0 161 m&&n —0 004)
Declination Error (o, —0 074 mean =-0.006)
Guider X (o,,=0. 027)

Guider Y (o, 0. 038)

80 100 120
expid=167307 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F OOZOH_ 00018
First 20 seconds (o, =0.329 o, =0.006)

Second 20 seconds ?0 ,=0.31 0 .=0.016)
Third 20 seconds (o, -0 279 0, —O 018)
Hour Angle Error (o —0 318 m&an —0 007)
Declination Error (o, —0 041 mean o.=0-022)

Guider X (o,,=0. 027)
Guider Y (o, 0. 081)

1 i 1 1 1
80 100 120
expid=167308 (exptime=90.00) t [sec]



120

90.00) t[sec]

80
expid

J9sdJe

167309 (exptime=



arcsec

First 2 seconds (h'— 0. 0413_ 0. 00335
First 20 seconds (o, =0.1:

Second 20 seconds ?0 —0 184 0,,.=0.017)
Third 20 seconds (o, -0 191a, :0.035)
Hour Angle Error (o a—O 188 mean =-0.003)
Declination Error (0, =0.031 mean o.=0-010)
Guider X (o,,=0. 028)

Guider Y (o, 0. 033)

80 00
expid=167310 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.280 E_— 0.106,
First 20 seconds (o, =0.376 T —0.026

Second 20 seconds ?0 ,=0.36 0 .=0.020)
Third 20 seconds (o, -0 398 0, —O 017)
Hour Angle Error (o —0 344 mEan —0 008)
Declination Error (o, —0 042 mean =-0.020)
Guider X (o,,=0. 028)

Guider Y (o, 0. 081)

...........................................................................................................................

.......................................................................

80 100 120
expid=167311 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00373_ 0048)
First 20 seconds (c =0.162 T, =0.010)

Second 20 seconds ?0 =017 0 —0009)

Third 20 seconds (o, -0 178 0, —O 039)
Hour Angle Error (o —0 177 mean =-0.003)
Declination Error (o, —0 046 mean =-0.004)
Guider X (o,,=0. 025)

Guider Y (o, 0. 036)

...........................................................................................................................

.......................................................................................................................................

80 100 120
expid=167312 (exptime=90.00) t [sec]



arcsec

First 2 seconds (F 0.032 H_— 0,04 g
First 20 seconds (o, =0.131 10, —0 015)

Second 20 seconds ?0 =0 135 0 .=0.013)
Third 20 seconds (o, -0 2150, —O 010)
Hour Angle Error (o —0 190 m&&n —0 010)
Declination Error (o, —0 026 mean =-0.006)
Guider X (o,,=0. 031)

Guider Y (o, 0. 046)

80 00
expid=167313 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 01673_ 0013)
First 20 seconds (c =0. 260 —0 014)

Second 20 seconds ?0 ,=0.15 0 .=0.033)
Third 20 seconds (o, -0 1330, —O 029)
Hour Angle Error (o —0 138 m&&n —0 008)
Declination Error (o, —0 058 mean =-0.030)
Guider X (o,,=0. 029)

Guider Y (o, 0. 033)

80 00 120
expid=167314 (exptime=90.00) t [sec]



arcsec

[CCITTTITITT0  First 2 seconds (h' 0. 0783 =0, 123%
SZ =z~ First20seconds (o, =0.073 98)
C X X Second 20 seconds ?o =0.| 06% 0,,.=0.067)

Third 20 seconds (o, 28.087 g, —O 052)
—_ Hour Angle Error (o —0 075 m&an —0 009)

_ Declination Error (g, —0 110 mean =-0.008)
........ A Guider X (o, -0041)
- - Guider Y (o, =0.030)

80 00
expid=167315 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,065 E_ =0, 029%
First 20 seconds (o, =0.052 ¢ 07)

Second 20 seconds ?0 =0.06! 0 ,=0-008)

Third 20 seconds (o, —5 064 g, —O 014)
Hour Angle Error (o a—O 060 mean =-0.005)
Declination Error (o, =0.024 mean =-0.013)
Guider X (o,,=0. 024)

Guider Y (o, 0. 037)

80 00
expid=167316 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 173 H_— 0, 143
First 20 seconds (o, =0.2; )

Second 20 seconds ?0 —0 23 0 . =0-025)

Third 20 seconds (o, —5 094 g, —O 035)
Hour Angle Error (o a—O 165 m&&n —0 026)
Declination Error (o, =0.077 mean o.=0-018)
Guider X (o,,=0. 029)

Guider Y (o, 0. 038)

80 00
expid=167317 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 103 E_— 0.016,
First 20 seconds (o,_=0.072 T, -0.010

Second 20 seconds ?0 =0.04. 0 . =0-053)

Third 20 seconds (o, —5 057 g, —O 130)
Hour Angle Error (o a—O 058 m&&n =-O 004)
Declination Error (o, =0.085 mean o.=0-000)
Guider X (o,,=0. 035)

Guider Y (o, 0. 033)

80 00 120
expid=167318 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.135 H_— 0, 12:2
First 20 seconds (o,_=0.244 35)

Second 20 seconds ?0 =0. 28 0 ,=0-010)

Third 20 seconds (o, -5 3520, —O 029)
Hour Angle Error (o —0 315 m&an —0 017)
Declination Error (o, —0 054 mean =-0.013)
Guider X (o,,=0. 031)

Guider Y (o, 0. 073)

80 100 120
expid=167319 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 0253_ 0. 0158
First 20 seconds (o, =0.163 @ = 9)

Second 20 seconds ?0 ,=0.16 0 . =0-073)

Third 20 seconds (o, -0 159 0, —O 084)
Hour Angle Error (o —0 165 m&&n -0 003)
Declination Error (o, —0 107 mean =-0.000)
Guider X (o,,=0. 044)

Guider Y (o, 0. 043)

...........................................................................................................................

.......................................................................................................................................

80 100 120
expid=167320 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.114 H_— 0, 105%
First 20 seconds (o, =0.068 o 32)

Second 20 seconds ?0 =0.05 0 . =0-030)

Third 20 seconds (o, —5 084 g, —O 025)
Hour Angle Error (o —0 068 m&an —0 006)
Declination Error (o, —0 112 mean =-0.028)
Guider X (o,,=0. 041)

Guider Y (o, 0. 031)

80 00
expid=167321 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 1443_ 0. 0398
First 20 seconds (o, =0.060 O —0 8)

Second 20 seconds ?0 =0.11! o .=0.013)

Third 20 seconds (o, —5 083 g, —O 010)
Hour Angle Error (o a—O 085 m&&n —0 003)
Declination Error (0, =0.034 mean o.=0-030)
Guider X (o,,=0. 033)

Guider Y (o, 0. 030)

80 00
expid=167322 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.086 H_— 0, 1643
First 20 seconds " (o,_=0.083 50)

Second 20 seconds ?0 =0. 07 0 o, =0-047)

Third 20 seconds (o, —5 064 g, —O 049)
Hour Angle Error (o —0 076 m&an —0 025)
Declination Error (o, —0 113 mean =-0.016)
Guider X (o,,=0. 040)

Guider Y (o, 0. 031)

80 00
expid=167323 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,057 E_ =0, 051%
First 20 seconds (o, =0.052 ¢ 07)

Second 20 seconds ?0 =0.07' 0 . =0-036)

Third 20 seconds (o, —5 0450, —O 016)
Hour Angle Error (o a—O 060 m&&n —0 007)
Declination Error (o, =0.054 mean =-0.011)
Guider X (o,,=0. 029)

Guider Y (o, 0. 030)

80 00 120
expid=167324 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 1133_— 0. 108%
First 20 seconds (o, =0.0: 29)

Second 20 seconds ?0 —0 03 0 .=0.024)
Third 20 seconds (o, —5 0420, —O 034)
Hour Angle Error (cha—O 047 m&&n -0 004)
Declination Error (0, =0.105 mean =-0.011)
Guider X (o,,=0. 040)

Guider Y (o, 0. 027)

80 00
expid=167325 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 043 E_ =0, 003%
First 20 seconds (o, =0.049 o 05)

Second 20 seconds ?0 =0.05! 0 . =0-013)

Third 20 seconds (o, —5 062 g, —O 023)
Hour Angle Error (o a—O 054 m&&n =-O 003)
Declination Error (0, =0.041 mean o.=0-027)
Guider X (o,,=0. 025)

Guider Y (o, 0. 034)

80 00
expid=167326 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 123 H_— 0, 066%
First 20 seconds (o, =0.0! 13)

Second 20 seconds ?0 —0 04 0 ,=0-010)

Third 20 seconds (o, —5 047 g, —O 007)
Hour Angle Error (cha—O 055 m&&n -0 020)
Declination Error (g, =0.040 mean .=-0.001)
Guider X (o,,=0. 025)

Guider Y (o, 0. 027)

80 00
expid=167327 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 045 H_— -0 omg
First 20 seconds (o, =0.0! 05)

Second 20 seconds ?0 —0 05 0 . =0-026)

Third 20 seconds (o, —5 032 g, —O 017)
Hour Angle Error (cha—O 049 m&&n =-O 002)
Declination Error (o, =0.050 mean =-0.011)
Guider X (o,,=0. 032)

Guider Y (o, 0. 023)

80 00
expid=167328 (exptime=90.00) t [sec]



arcsec

o_=0. o =0

ha dec

First 2 seconds (Fa=0.104 Hec:-0,144f
First 20 seconds (o, =0.041 0 ec=0.05 )
Second 20 seconds ?Uh =0.046 0, =0.037)

Third 20 seconds (o, 3:5.037 cdec;5.032)
Hour Angle Error (o a=0.056 mean a=0.014)
Declination Error (0, =0.071 mean  =0.029)
Guider X (g,,=0.029)

Guider Y (0,=0.027)

80 100 120
expid=167329 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.052 E_— 0.036,
First 20 seconds (o, =0.070 T —0.012

Second 20 seconds ?0 =0.08 0 .=0-022)

Third 20 seconds (o, —5 060 g, —O 023)
Hour Angle Error (o a—O 070 mean =-0.005)
Declination Error (0, =0.042 mean o.=0-007)
Guider X (o,,=0. 026)

Guider Y (o, 0. 025)

80 00
expid=167330 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.040 H_— 0, 116%
First 20 seconds (o,_=0.040 35)

Second 20 seconds ?0 =0. 06 0 . =0-057)

Third 20 seconds (o, —5 069 g, —O 129)
Hour Angle Error (o a—O 061 m&&n —0 004)
Declination Error (0, =0.133 mean =-0.033)
Guider X (o,,=0. 044)

Guider Y (o, 0. 027)

80 00
expid=167331 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00533_ 0. 072)
First 20 seconds (c 0540 —0 010)

Second 20 seconds ?0 =0.06 0 .=0.012)
Third 20 seconds (o, —5 079 g, —O 007)
Hour Angle Error (o a—O 064 m&&n —0 000)
Declination Error (0, =0.024 mean o.=0-024)
Guider X (o,,=0. 018)

Guider Y (o, 0. 029)

80 100 120
expid=167332 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 023 H_— 0, 132}
First 20 seconds (o, =0.0: 41)

Second 20 seconds ?0 —0 07 0 . =0-018)

Third 20 seconds (o, —5 058 g —O 008)
Hour Angle Error (cha—O 069 m&&n -0 010)
Declination Error (o, =0.049 mean o.=0-027)
Guider X (o,,=0. 019)

Guider Y (o, 0. 028)

80 00
expid=167333 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.030 E_— 0.017,
First 20 seconds (o, =0.066 Ty, —0.011

Second 20 seconds ?0 =0.09. 0 . =0-029)

Third 20 seconds (o, —5 077 g, —O 056)
Hour Angle Error (o a—O 088 m&an —0 000)
Declination Error (g, =0.059 mean =-0.021)
Guider X (o,,=0. 027)

Guider Y (o, 0. 028)

80 00 120
expid=167334 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00583_ 0006)
First 20 seconds (o, =0. 910 =0.009)

Second 20 seconds ?0 =0.078 0 .=0.020)
Third 20 seconds (o, —5 083 g, —O 015)
Hour Angle Error (o a—O 077 m&&n -0 002)
Declination Error (o, =0.023 mean o.=0-038)
Guider X (o,,=0. 019)

Guider Y (o, 0. 025)

80 00
expid=167335 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 006 E_— 0.016,
First 20 seconds (o, =0.053 T -0.012

Second 20 seconds ?0 =0.06! 0 .=0.020)
Third 20 seconds (o, —5 0710, —O 007)
Hour Angle Error (o a—O 065 méan -0 004)
Declination Error (0, =0.025 mean o.=0-016)
Guider X (o,,=0. 022)

Guider Y (o, 0. 032)

80 00 120
expid=167336 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 058 H_— 0, oegg
First 20 seconds (o, =0.0! 26)

Second 20 seconds ?0 —0 07 0 ,=0-010)

Third 20 seconds (o, —5 060 g, —O 029)
Hour Angle Error (cha—O 068 m&an -O 011)
Declination Error (0, =0.066 mean o.=0-017)
Guider X (o,,=0. 028)

Guider Y (o, 0. 030)

80 00
expid=167337 (exptime=90.00) t [sec]



arcsec

g,

=0. o =0
ha dec
[T 7170 First 2seconds (Fa=0.022 dec=0.008)
===z~ First20seconds (o, =0.060 0, =0.012)
C X X Second 20 seconds ?Uh :0.07% 0,,.=0.048)

Third 20 seconds (cha:5.064 cdeczgﬁ.osg)
—_ Hour Angle Error (o, =0.067 mean_=-0.000)

_ Declination Error (cd:c=0.119 mean:ec:0.0lZ)
........ A Guider X (o, =0.046)
V-

........ Guider Y (0,.=0.035)

RrE G QU VA N A YA Y 4 e eeeeeeeaeeeeeaaaaaaann M eeeesneneeeeaaaaaaaaaan S,

80 00
expid=167338 (exptime=90.00)



arcsec

First 2 seconds (h' 0. 097 H_— O 12 a
First 20 seconds (o, =0.0! 40)

Second 20 seconds ?0 —0 06 0 —0 038)
Third 20 seconds (o, —5 080 g —O 024)
Hour Angle Error (o a—O 072 m&an -0 014)
Declination Error (0, =0.063 mean o.=0-021)
Guider X (o,,=0. 023)

Guider Y (o, 0. 024)

80 00
expid=167339 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.008 E_— 0.009
First 20 seconds " (o,_=0.080 T —0.013

Second 20 seconds ?0 =0.06! 0 . =0-022)

Third 20 seconds (o, —5 100 0, —O 059)
Hour Angle Error (o a—O 087 mean =-0.000)
Declination Error (o, =0.054 mean =-0.002)
Guider X (o,,=0. 030)

Guider Y (o, 0. 027)

80 00
expid=167340 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.099 H_— 0, 120%
First 20 seconds (o, =0.057 ¢ 36)

Second 20 seconds ?0 =0.07 0 ,=0-008)

Third 20 seconds (o, —5 043 g, —O 005)
Hour Angle Error (o a—O 073 m&an —0 008)
Declination Error (o, =0.038 mean o.=0-005)
Guider X (o,,=0. 021)

Guider Y (o, 0. 024)

ATCRY
| 1 1 1 | 1 1 1

80 100 120
expid=167341 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,058 E_ =0, 028&
First 20 seconds (o, =0.086 o 09)

Second 20 seconds ?0 =0.06 0 &, =0-017)

Third 20 seconds (o, —5 064 g —O 009)
Hour Angle Error (o a—O 074 mean =-0.001)
Declination Error (o, =0.035 mean o.=0-005)
Guider X (o,,=0. 026)

Guider Y (o, 0. 025)

80 00
expid=167342 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.125 H_— 0,10 g
First 20 seconds (o, =0.071 0 —0 026)

Second 20 seconds ?0 =0.07' 0 . =0-026)

Third 20 seconds (o, —5 094 g, —O 010)
Hour Angle Error (o a—O 085 m&&n —0 013)
Declination Error (0, =0.074 mean o.=0-003)
Guider X (o,,=0. 024)

Guider Y (o, 0. 029)

80 00
expid=167343 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 050 E_— 0.001,
First 20 seconds (o, =0.069 T -0.013

Second 20 seconds ?0 =0.07. 0 .=0.025)
Third 20 seconds (o, —5 048 g —O 024)
Hour Angle Error (o a—O 069 m&&n -0 002)
Declination Error (0, =0.053 mean o.=0-028)
Guider X (o,,=0. 023)

Guider Y (o, 0. 026)

80 00
expid=167344 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.168 H_— 0, 0173
First 20 seconds (o, =0.085 20)

Second 20 seconds ?0 =0.| 04 0 . =0-009)

Third 20 seconds (o, —5 067 g, —O 021)
Hour Angle Error (o a—O 066 mean =-0.001)
Declination Error (g, =0.029 mean o.=0-037)
Guider X (o,,=0. 017)

Guider Y (o, 0. 024)

80 00
expid=167345 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00533_ 0007)
First 20 seconds (o, =0. 510 =0.011)

Second 20 seconds ?0 =0.048 0 . =0-012)

Third 20 seconds (o, —5 052 g, —O 018)
Hour Angle Error (o a—O 056 m&an =-O 004)
Declination Error (0, =0.026 mean o.=0-009)
Guider X (o,,=0. 020)

Guider Y (o, 0. 025)

80 00
expid=167346 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 00723_ -0, 115%
First 20 seconds (o, =0.0 33)

Second 20 seconds ?0 —0 05 0 . =0-025)

Third 20 seconds (o, —5 080 g —O 030)
Hour Angle Error (cha—O 079 m&an -0 015)
Declination Error (o, =0.105 mean .—-0.016)
Guider X (o,,=0. 035)

Guider Y (o, 0. 030)

80 00
expid=167347 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 0313_ 0.01. 8
First 20 seconds (o, =0.065 50 —0 007)

Second 20 seconds ?0 =0.08! 0 ,=0.007)

Third 20 seconds (o, —5 0810, —0 011)
Hour Angle Error (o a—O 080 méan —0 005)
Declination Error (o, =0.029 mean o.=0-039)
Guider X (o,,=0. 026)

Guider Y (o, 0. 032)

e AV
> A' .................................
A! A
| 1 1 1 | 1 1 1

80 100 120
expid=167348 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.013 H_— 0, 17:2
First 20 seconds (o, =0.066 55)

Second 20 seconds ?0 =0. 05 0 &, =0-027)

Third 20 seconds (o, —5 095 g, —O 031)
Hour Angle Error (o a—O 079 m&&n —0 004)
Declination Error (0, =0.079 mean o.=0-021)
Guider X (o,,=0. 029)

Guider Y (o, 0. 030)

80 00
expid=167349 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.038 E_— 0.025,
First 20 seconds " (o,_=0.046 T —0.008

Second 20 seconds ?0 =0.07 0 o, =0-024)

Third 20 seconds (o, —5 080 g, —O 082)
Hour Angle Error (o a—O 065 m&an —0 001)
Declination Error (0, =0.062 mean =-0.001)
Guider X (o,,=0. 028)

Guider Y (o, 0. 030)

80 00 120
expid=167350 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 106 H_— 0, 153
First 20 seconds (o, =0.0: )

Second 20 seconds ?0 —0 07 0 -, =0-028)

Third 20 seconds (o, —5 082 g, —O 024)
Hour Angle Error (o —0 083 m&an —0 008)
Declination Error (o, —0 119 mean =-0.007)
Guider X (o,,=0. 040)

Guider Y (o, 0. 031)

v v
AL
| 1 1 1 | 1 1 1

80 100 120
expid=167351 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0. 0613_ 0, 02123
First 20 seconds (o, =0.01 06)

Second 20 seconds ?0 —0 06 0 ,=0-008)

Third 20 seconds (o, —5 073 g, —O 024)
Hour Angle Error (o a—O 064 mean =-0.002)
Declination Error (o, =0.031 mean o.=0-045)
Guider X (o,,=0. 023)

Guider Y (o, 0. 028)

80 00
expid=167352 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.126 H_— 0, 1663
First 20 seconds (o, =0.060 54)

Second 20 seconds ?0 =0. 08 0 ,=0-010)

Third 20 seconds (o, —5 084 g, —O 015)
Hour Angle Error (o a—O 071 m&&n —0 017)
Declination Error (0, =0.042 mean =-0.012)
Guider X (o,,=0. 023)

Guider Y (o, 0. 027)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan
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80 100 120
expid=167353 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 068 E_ =0, 0323
First 20 seconds (o, =l 10)

Second 20 seconds ?0 —0 07 0 ,=0-010)

Third 20 seconds (o, —5 036 g, —O 016)
Hour Angle Error (o a—O 052 m&&n =-O 001)
Declination Error (0, =0.021 mean o.=0-013)
Guider X (o,,=0. 024)

Guider Y (o, 0. 025)

80 00
expid=167354 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 063 H_— 0, 1263
First 20 seconds (o, =0.0: 39)

Second 20 seconds ?0 —0 05 0 o, =0-014)

Third 20 seconds (o, —5 060 g, —O 008)
Hour Angle Error (o a—O 057 m&&n -0 012)
Declination Error (0, =0.063 mean o.=0-016)
Guider X (o,,=0. 029)

Guider Y (o, 0. 030)

80 00
expid=167355 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 1713_— 00042;
First 20 seconds " (o,_=0.087 70, —0 006)

Second 20 seconds ?0 =0.08 0 -, =0-010)

Third 20 seconds (o, —5 088 g —O 032)
Hour Angle Error (o a—O 086 m&an —0 004)
Declination Error (g, =0.025 mean o.=0-002)
Guider X (o,,=0. 025)

Guider Y (o, 0. 037)

80 00
expid=167356 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.058 E_— 0.122
First 20 seconds (o, =0.057 T —0.034

Second 20 seconds ?0 =0.03 0 o, =0-024)

Third 20 seconds (o, —5 048 g —O 008)
Hour Angle Error (o a—O 048 m&&n —0 010)
Declination Error (o, =0.047 mean =-0.016)
Guider X (o,,=0. 031)

Guider Y (o, 0. 027)

AN
| 1 1 1 | 1 1 1

80 100 120
expid=167357 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 095 E_ =0, 025&
First 20 seconds (o, =0.049 o 06)

Second 20 seconds ?0 =0.06 0 ,=0.011)

Third 20 seconds (o, —5 067 g, —O 022)
Hour Angle Error (o a—O 067 m&an =-O 003)
Declination Error (o, =0.017 mean o.=0-015)
Guider X (o,,=0. 026)

Guider Y (o, 0. 026)

80 00
expid=167358 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 079 H_— O 161 3
First 20 seconds (o, =0.01 49)

Second 20 seconds ?0 —0 05 0 —0018)

Third 20 seconds (o, —5 053 g, —O 023)
Hour Angle Error (o a—O 056 m&an -0 010)
Declination Error (0, =0.071 mean o.=0-023)
Guider X (o,,=0. 020)

Guider Y (o, 0. 032)

80 00
expid=167359 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'—-o 053 E_— 0.078,
First 20 seconds (o, =0.046 Ty, -0.012

Second 20 seconds ?0 =0.05. 0 . =0-016)

Third 20 seconds (o, —5 049 g, —O 021)
Hour Angle Error (o a—O 051 m&&n =-O 006)
Declination Error (o, =0.082 mean o.=0-021)
Guider X (o,,=0. 038)

Guider Y (o, 0. 040)

80 00 120
expid=167360 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.047 H_— 0, 1263
First 20 seconds " (o,_=0.080 39)

Second 20 seconds ?0 =0. 07 0 . =0-015)

Third 20 seconds (o, —5 082 g, —O 009)
Hour Angle Error (o a—O 082 m&&n —O 011)
Declination Error (o, =0.060 mean o.=0-035)
Guider X (o,,=0. 022)

Guider Y (o, 0. 028)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan
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80 100 120
expid=167361 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. 053 H_— 0, 0433
First 20 seconds (o, =0.0: 09)

Second 20 seconds ?0 —0 06 0 =0.011)

Third 20 seconds (o, —5 090 g, —O 038)
Hour Angle Error (cha—O 076 m&an -0 001)
Declination Error (o, =0.048 mean o.=0-007)
Guider X (o,,=0. 020)

Guider Y (o, 0. 032)

80 00 120
expid=167362 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.107 H_— 0, 127%
First 20 seconds " (o,_=0.308 32)

Second 20 seconds ? =0. 29 0 .=0.017)
Third 20 seconds (o, -5 413 g, —O 041)
Hour Angle Error (o —0 363 m&an -0 021)
Declination Error (o, —0 078 mean o.=0-018)
Guider X (o,,=0. 029)

Guider Y (o, 0. 096)

80 00
expid=167363 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. OZB H_— 0, 0543
First 20 seconds (o, =0.3( 10)

Second 20 seconds ?0 —0 05 0 ,=0.023)
Third 20 seconds (o, —5 038 g, —O 031)
Hour Angle Error (o a—O 150 m&&n =-O 009)
Declination Error (g, =0.090 mean .=-0.010)
Guider X (o,,=0. 034)

Guider Y (o, 0. 036)

80 00
expid=167364 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.060 H_— 0, 146&
First 20 seconds " (o,_=0.047 40)

Second 20 seconds ? =0., 27 0 .=0.056)
Third 20 seconds (o, -5 3350, —O 075)
Hour Angle Error (o —0 337 m&an -0 010)
Declination Error (o, —0 128 mean =-0.025)
Guider X (o,,=0. 045)

Guider Y (o, 0. 081)

80 00
expid=167365 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0,702 E_ =0, 008{
First 20 seconds (o, =0.442 ¢

Second 20 seconds ?0 =0.42. 0 .=0.041)
Third 20 seconds (o, -5 448 g, —O 019)
Hour Angle Error (o —0 432 mean =-0.013)
Declination Error (o, —0 067 mean o.=0-033)
Guider X (o,,=0. 035)

Guider Y (o, 0. 096)

.................................................

80 00
expid=167366 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.098 H_— 0, 190%
First 20 seconds (o,_=0.047 52)

Second 20 seconds ?0 =0. 05 0 . =0-052)

Third 20 seconds (o, -5 0410, —O 026)
Hour Angle Error (o a—O 051 méan —O 011)
Declination Error (0, =0.102 mean o.=0-018)
Guider X (o,,=0. 043)

Guider Y (o, 0. 031)

80 00
expid=167367 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.023 H_— 0, o44§
First 20 seconds (o, =0.038 18)

Second 20 seconds ?0 =0. 05 0 . =0-057)

Third 20 seconds (o, —5 060 g, —O 107)
Hour Angle Error (o a—O 058 mean =-0.002)
Declination Error (o, =0.127 mean =-0.020)
Guider X (o,,=0. 051)

Guider Y (o, 0. 050)

80 00
expid=167368 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.019 E_— 0.057,
First 20 seconds " (o,_=0.048 T —0.023

Second 20 seconds ?0 =0.04 0 . =0-014)

Third 20 seconds (o, —5 092 g, —O 060)
Hour Angle Error (o a—O 068 mean =-0.003)
Declination Error (0, =0.068 mean o.=0-036)
Guider X (o,,=0. 046)

Guider Y (o, 0. 041)

80 00
expid=167369 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.046 H_— 0, 0441
First 20 seconds " (o,_=0.048 11)

Second 20 seconds ?0 =0. 08 0 . =0-023)

Third 20 seconds (o, —5 086 0, —O 046)
Hour Angle Error (o a—O 080 mean =-0.005)
Declination Error (o, =0.068 mean o.=0-023)
Guider X (o,,=0. 037)

Guider Y (o, 0. 039)

P T R e O N A M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan
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............. D N T N A N N N e
1 | 1 1 1

80 100 120
expid=167370 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h'— 0.005 E_— 0.130
First 20 seconds " (o,_=0.044 T —0.037

Second 20 seconds ?0 =0.06. 0 . =0-018)

Third 20 seconds (o, —5 059 g, —O 039)
Hour Angle Error (o a—O 054 m&&n —0 010)
Declination Error (o, =0.060 mean =-0.006)
Guider X (o,,=0. 040)

Guider Y (o, 0. 042)

80 00 120
expid=167371 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0.010 E_ =0, 2233
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 124 m&&n —0 005)
Declination Error (o, =0.067 mean o =0-123)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167372 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 022 E_ =0, 0013
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 112 m&%n =-O 026)
Declination Error (0, =0.012 mean =-0.003)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167374 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 040 E_— 0.021
First 20 seconds (o, =0.121 1o, -0 027,

Second 20 seconds ?0 =0.000 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 121 m&&n =-0 011)
Declination Error (o, =0.027 mean =-0.068)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=167377 (exptime=20.00) t [sec]



arcsec

First 2 seconds (h' 0. 115 H_— 0, 229&
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 046 m&an -0 036)
Declination Error (0, =0.069 mean —0.143)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167378 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h'—-o 109 E_— 0.003,
First 20 seconds (o, =0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 069 m&&n =-O 040)
Declination Error (o, =0.004 mean .=-0.003)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=167380 (exptime=15.00) t [sec]



arcsec

First 2 seconds (h' OOZOH_ 0005?}
First 20 seconds (o, =0.072 o, =0.004)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 072 m&an =-O 000)
Declination Error (o, =0.004 mean o.=0-003)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167382 (exptime=20.00) t [sec]



arcsec

First 2 seconds (F OOSBH_ 0. 14(@
First 20 seconds (o, =0.000 G -0 0)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 143 m&&n -0 050)
Declination Error (o, =0.010 mean o =0-141)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167383 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h'—-o 025 E_ =0, 0163
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 133 m&&n -0 012)
Declination Error (o, =0.013 mean o.=0-015)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

1 J L i X I 1 1 i i 1 1 1 | 1 1 1 | 1 1 1
20 40 60 80 100 120

expid=167386 (exptime=3.00) t[sec]



arcsec

First 2 seconds (h' 0. 055 H_— 0, 0213
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 141 m&&n =-O 000)
Declination Error (o, =0.009 mean =-0.015)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167387 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h' 01283_ 0204)
First 20 seconds (o, =0. 710 0.056)

Second 20 seconds ?0 =0.070 0 . =0-030)

Third 20 seconds (o, —5 070 g, —O 018)
Hour Angle Error (o a—O 076 mean =-0.001)
Declination Error (o, =0.068 mean o.=0-009)
Guider X (o,,=0. 029)

Guider Y (o, 0. 031)

80 00 120
expid=167388 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0. oso H_— 0, 1073
First 20 seconds (o, =0.0! 29)

Second 20 seconds ?0 —0 04 0 ,=0-040)

Third 20 seconds (o, —5 0410, —O 020)
Hour Angle Error (o a—O 057 méan =-O 002)
Declination Error (0, =0.062 mean o.=0-026)
Guider X (o,,=0. 033)

Guider Y (o, 0. 032)

80 00
expid=167389 (exptime=90.00) t [sec]



arcsec

o_=0.l o =0

ha dec
[0  First 2seconds (Ra=-0,072 Eec:-0.0GB;
===~ First20seconds (o, =0.0650  =0.018
C X X Second 20 seconds ?Uh :0.051 0, =0.090)

Third 20 seconds (cha:5.067 Gdec:eé'l34)
—_ Hour Angle Error (o, =0.064 mean_=-0.001)

—_ Declination Error (cd:c:0.104 mean:ec:0.021)
........ A Guider X (o, =0.039)
V-

........ Guider Y (0,.=0.034)

RrE G QU VA N A YA Y 4 e eeeeeeeaeeeeeaaaaaaann M eeeesneneeeeaaaaaaaaaan B eeiecenaenanaanaanaaaan

20 40 60 80 100 120
expid=167390 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' 0.149 H_— 0, 154%
First 20 seconds (o, _=0.232 43)

Second 20 seconds ?0 =0. 31 0 ,=0-008)

Third 20 seconds (o, -5 067 g, —O 006)
Hour Angle Error (o a—O 192 m&&n —0 014)
Declination Error (0, =0.066 mean o.=0-008)
Guider X (o,,=0. 029)

Guider Y (o, 0. 050)

80 00
expid=167391 (exptime=90.00) t [sec]



arcsec

First 2 seconds (h' -0, 1103_— 0 027
First 20 seconds (o, =0.185

Second 20 seconds ?0 =0., 25 0 —0 009)
Third 20 seconds (o, -5 2710, —O 012)
Hour Angle Error (o —0 268 mean =-0.001)
Declination Error (o, —0 055 mean =-0.014)
Guider X (o,,=0. 041)

Guider Y (o, 0. 076)

80 00 120
expid=167393 (exptime=90.00) t [sec]
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arcsec

First 2 seconds (h' 0. 063 H_— 0, 1663
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 033 m&&n -0 028)
Declination Error (g, =0.005 mean .—-0.170)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167487 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h'—-o 043 E_ 0, 1638
First 20 seconds (o, =0.000 o 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)

Hour Angle Error (o a—O 075 m&an -0 019)
Declination Error (0, =0.022 mean o =0-141)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167490 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h'—-o 002 E_— 0.158,
First 20 seconds " (o,_=0.000 T -0.000

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 038 m&an a-O 036)
Declination Error (0, =0.011 mean, =-0.147)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00 120
expid=167491 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h' 0. 1353_ 0. 1328
First 20 seconds (o, =0.000 G -0 0)

Second 20 seconds ?0 =0.00 0 ,=0-000)

Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 036 m&an -0 172)
Declination Error (g, =0.005 mean o.=0-128)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167492 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h' 0. 1033_ 0. 1478
First 20 seconds (o, =0.000 G -0 0)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 035 m&an -0 086)
Declination Error (0, =0.022 mean o.=0-125)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167495 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h' 0. 1193_— 0. 121&
First 20 seconds (o, =0.0 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)
Hour Angle Error (o a—O 088 m&an -0 066)
Declination Error (o, =0.019 mean —-0.102)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 100 120
expid=167497 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h'—-o 0713_ 0. 12723
First 20 seconds (o, =l 00)

Second 20 seconds ?0 —0 00 0 .=0.000)
Third 20 seconds (o, -5 000 g —O 000)

Hour Angle Error (o a—O 058 m&&n =-O 018)
Declination Error (o, =0.006 mean o =0-121)
Guider X (o,,=0. OOO)
Guider Y (o, 0. 000)

80 100 120
expid=167501 (exptime=5.00) t[sec]



arcsec

First 2 seconds (h'— 0, 0113_— -0 08&9
First 20 seconds (o, =0.000 @ = 00)

Second 20 seconds ?0 =0.00 0 .=0.000)
Third 20 seconds (o, -5 000 g, —O 000)
Hour Angle Error (o a—O 051 m&&n -0 025)
Declination Error (0, =0.012 mean =0.077)
Guider X (o,,=0. OOO)

Guider Y (o, 0. 000)

80 00
expid=167502 (exptime=5.00) t[sec]
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